2RXS J155958.2+605913

gamm*powl

930622 0190

I
1.00

|
Energy/keV

0.10

T
o

L |

T8
o o o
~—i i i

(A93 s zwd)/suojoyd

N\
L
1.00

|
Energy/keV

(@]
| -
1 o
R [TV N R [TV N I A A R (TR N0 N O N R (TR AR =
7 ¢ ? Y
o o o o
L o | q—] — L |

(A s)/s3uno)

- o n
: 83
& 2 H
(@) — -~
© Te) ©
| | |
+ + +
o
a [ap] — (= n
o - o + o
| | | = |
@ B @ ©
- ¥+ a & o
© ¥ Q o O
™ Te] — | —
Il
Q
® I
S ]
3, I £
(7] ; Il S
[ V. I o
wn = z — Z
[TTTTTTTTTITTTITITT
ARNRANRENA RRERANRNRE

N - o — O

sren

pisay

1.00

0.10

X%req = 0412

Energy/keV



